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IMUFOEE. t R X TRZEORBEOBEIN X IMUTFOBE. +R X TRZEOHBEOZEN X
. DEBI= LB HA ThENORE |5 s 2 TRUSORS . DEBI=LBHA ThENORSE |3 2 2R TR DR
RO |100kN/m2% 2 2 B Ei RO 1000,/ mo% 8% 5 R i
ADKEES 1EZ |hoiEx tEZ [hoxEs tEE |hokEs 1EZ ADKES 1EZ |hokEs tEZ [hokEs 1EE |hokEs 1RZ
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(kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m)
1 ~ 2 - - 90.81 1.00 - - 10.86 1.92 ~
2 ~ 3 - - 90.81 1.00 - - 1222 216 ~
4 ~ 5 = = 10000 | 1.00 = = 14.46 2.56 ~
5 ~ 6 14919  1.00 | 10000  1.00 - - 1695  3.00 ~
6 ~ 7 14919  1.00 | 100.00  1.00 17.26 3.05 1695  3.00 ~
7 ~ 8 14808  1.00 | 100.00  1.00 - - 1695  3.00 ~
8 ~ 9 - - 10000 = 1.00 - - 1583 | 2.80 ~
9 ~ 10 - - 96.93 1.00 - - 1242 | 220 ~
10 ~ 11 - - 79.97 1.00 - - 10.15 1.80 ~
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